£670 EFREHERAXF—KE

ARBER
FEBEF4x5km1)L—
HWU7aAA N —a—X 2018/01/15 FRIREEM] 09:40 #ETHFRS 10:48
Fal= J—2 7—4%
Hitit® rE EA a—24A B aAAYk—1~2
mEEER x HF— AT LIRS 315m
I—REE W& ERB EgE 87m
Y—L2)— HEE = BREESESE 46m
190m
25 5km
Ik 1
- 4] F—L
S Bb o=le AN S4L R BEE  S4L  Eh M=
1 12 R EE 57:30.7 0.0
121 7=  BEiE @A((2) 14:22.1 =1 0.0 14:22.1 =1 0.0
12-2 & KE 871 15:540 2  +30.0 30:16.1 1 0.0
12-3 #& KIE #(3) 12:294 1 0.0 42:456 1 0.0
12-4 & EH X182 14:451 2 +1:13.7 57:30.7 1 0.0
2 11 ERFEE 57:41.0 +10.3
11-1 Ff FH K3 14:22.1 =1 0.0 14:22.1 =1 0.0
1-2 % B DKER(1) 15:556 3  +316 30:17.7 2 +1.6
1-3 & HE ELX@Q) 13:51.8 2 +1:224 44:098 2 +1:24.0
1-4 & FHE BIE3) 13:31.4 1 0.0 57:41.0 2  +10.3
3 14 RS 1:03:47.2 +6:16.5
141 F  fEakx KHEE3) 15191 3 +57.0 15:19.1 3 +57.0
14-2 & &k BEEG) 17:01.1 4 +1:37.1 32:202 3 +2:04.1
14-3 & Ei ®m¥E@Q2) 15:385 3 +3:09.1 47:58.8 3 +5:13.2
14-4 F 8K Kith(1) 15:48.4 4 +2:17.0 1:03:47.2 3 +6:16.5
4 13 ol e 1:04:50.6 +7:19.9
13-1 B BAN) 18:02.0 4 +3:39.9 18:02.0 4 +3:39.9
13-:2 & A/R ®mEQ) 15:240 1 0.0 33:26.0 4 +3:09.9
13-3 & HBE 870) 151441 4 +3:14.7 49:10.2 4 +6:24.6
13-4 & WBH FEHQ3) 15:40.4 3 +2:09.0 1:.04:50.6 4 +7:19.9
? e ) 16 OPERFB 1:03:31.5 +6:00.8
16-1 #  FHE FA1) 15:38.5 +1:16.4 15:38.5 +1:16.4
16-2 & HE i) 17:08.6 +1:44.6 32:47.1 +2:31.0
16-3 8 8% REM 15:16.0 +2:46.6 48:03.2 +5:117.6
16-4 &{ E# BI(1) 15:28.2 +1:56.8 1:03:31.5 +6:00.8
-7y 17 OP—F-FLHES : 1:05:40.8 +8:10.1
17-1 & 8K 23) 14:16.2 5.9 14:16.2 -5.9
17-2 & S8 ZEL() 17:57.2 +2:33.2 32:13.5 +1:57.4
17-3 & HHB £iE() 16:36.8 +4:07.4 48:50.4 +6:04.8
17-4 & 4@ #E) 16:50.4 +3:19.0 1:05:40.8 +8:10.1
=7 15 OPZftrh 1:07:26.3 +9:55.6
15-1 7 RE BHEQ2) 15:06.4 +44.3 15:06.4 +44.3
15-2 f#& =B B 18:53.0 +3:29.0 33:59.5 +3:43.4
15-3 # RHE #X 14:58.2 +2:28.8 48:57.7 +6:12.1
165-4 & Efy HEE(1) 18:28.5 +4:57 1 1:07:26.3 +9:55.6

Data processing by SEIKO Print Date: Mon 15 Jan 2018 Print Time: 10:48 Page: 1/2




F67h BEFREPERIAXF—KE

NEXEER
hEBF 4x5km )L —
BUYOXAR)]—3—& 2018/01/15 BAtaREfE 09:40 M THERT 10:48
) ~ X ==
mb, B A ON sqL  EH BEE sS4 EE B
B % =8 = ih 2K A B
09:30 =D B 3°C 1°C 62% #EJE, Omis
ESES
Iyk— 52 DQ DF DS
4 4 0 0 0
e oA —
TENEEE
1N I e By = B
FE = B R

Data processing by SEIKO Print Date: Mon 15 Jan 2018 Print Time: 10:48 Page: 2/2




